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• The marks for questions are shown in brackets.
• This examination contains 14 questions. Answer all questions.
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• Cross through any work you do not want to be marked.
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1       a)      Carbon Dioxide is a greenhouse gas. State one other greenhouse gas.                                         (1 mark)

b)      Some populations of marine invertebrates use calcium to build protective shells.
Explain why scientists predict this process will change due to climate change.                        (4 marks)

2       Explain one factor that could affect an animal’s population.                                                                       (2 mark)

3       a)      State a purpose of the IUCN’s ‘Red List’.                                                                                                  (1 mark)

b)      State two species listed on the IUCN’s ‘Red List’.                                                                               (2 marks)

4       ‘Living landscapes’ is an initiative developed by the Wildlife Trusts in the UK to improve 
and create wildlife rich areas that are accessible to people.
Describe three positive impacts of this strategy.                                                                                         (3 marks)
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3 See next page

5       a)      Explain two problems of imprinting baby birds.                                                                                 (2 marks)

b)      Give two examples of barrier nursing techniques used to avoid imprinting.                              (2 marks)

6       Give two weaknesses of the mark-release-recapture survey method.                                                  (2 marks)



0172-541                                                                                                                                                                                       12 March 2018

4

7       A remote island contained a large population of deer. The decision was taken by 
wildlife managers to introduce five wolves to the island as a way to manage the 
deer population.
a)      State four other methods that could be used to help control the deer population.                 (4 marks)

b)      Explain what will happen to the wolf population over a period of time.                                        (6 marks)

8       State two reproductive characteristics of an r-selected breeding strategy.                                         (2 marks)
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9       A scientist conducted a survey on dandelions in a field margin, using five quadrates 
placed at random. Explain why the scientist placed the quadrats at random.                                     (2 marks)

10     Explain why many birds follow a monogamous mating strategy.                                                             (6 marks)

11     Roads often cut through areas of woodland, leaving patches of habitat intact.
a)      State the type of habitat alteration this causes.                                                                                    (1 mark)

b)      Give two reasons why this type of habitat alteration can lead to extinction 
of some animal species.                                                                                                                             (2 marks)
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12     State three characteristics of a public sector organisation.                                                                     (3 marks)

13     Explain why it is important for businesses to keep accurate records of stock.                                     (3 marks)

14     A Red Squirrel has been brought into a wildlife centre showing signs of malnutrition.

Discuss the factors that should be considered to ensure the animal can be re-introduced 
back into the wild and justify your comments.                                                                                            (12 marks)
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8 End of examination


